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Simplify each. If it’s a 

negative power write 

your answer with a 

positive power. 

𝑝0 ≡ 

5−2 ≡ 

3𝑝7 × 𝑝 ≡ 

(𝑝6)0 ≡ 

4𝑝0 × 𝑝3 ≡ 

63

64
≡ 

12𝑝8 ÷ 2𝑝5 ≡ 

𝑝6 × 𝑝−6 ≡ 

(100𝑝5𝑞)0 ≡ 

𝑝−2 ≡ 

(𝑝3)2 ≡ 

6𝑝 × 7𝑝6 ≡ 

𝑥−3 ≡ 

3𝑝0

𝑝2
≡ 

𝑏9 ÷ 𝑏2 ≡ 

𝑢18 × 3𝑢6 ≡ 

(𝑛3)−2 ≡ 

(𝑑0)7 ≡ 

𝑎 × 3𝑎7 ≡ 

𝑙6 ÷ 𝑙5 ≡ 

(𝑒13)2 ≡ 

𝑛 × 𝑛 ≡ 

𝑔2

𝑔8
≡ 

𝑒22

𝑒3
≡ 

𝑟2 ÷ 𝑟−3 ≡ 

𝑠5 × 𝑠7 ≡ 

(𝑛4)8 ≡ 

(𝑗8)2 ≡ 

𝑧0 ≡ 

𝑏50

𝑏10
≡ 

𝑙7 ÷ 𝑙−3 ≡ 

𝑢2 × 6𝑢3 ≡ 

(𝑑13)0 ≡ 

𝑝14 ÷ 𝑝7 ≡ 

5𝑝6 × 7𝑝 ≡ 

(𝑝2)3 ≡ 

(𝑥4)9 ≡ 

5𝑝8 × 7𝑝11 ≡ 

𝑚2

𝑚4
≡ 

𝑦7 ÷ 𝑦 ≡ 

𝑔3 × 9𝑔8 ≡ 

(𝑝0)2 ≡ 

𝑦21 × 𝑦2 ≡ 

3−2 ≡ 

𝑎6 × 4𝑎 ≡ 

20𝑝2 ÷ 4𝑝7 ≡ 

(2𝑝5)3 ≡ 

𝑘2

𝑘5
≡ 

6−2 ≡ 

2−5 ≡ 

(3𝑝3)3 ≡ 

𝑝2 ÷ 𝑝8 ≡ 

𝑖7 × 8𝑖3 ≡ 

(𝑛0)4 ≡ 

(𝑛4)5 ≡ 

𝑖8 × 𝑖12 ≡ 

4𝑡12

2𝑡8
≡ 

10−2 ≡ 

4ℎ × ℎ2 ≡ 

(6𝑝3)2 ≡ 

𝑘2

𝑘6
 

12𝑥10 ÷ 3𝑥4 ≡ 

12−2 ≡ 

(𝑐5)7 ≡ 

14ℎ9

7ℎ5
≡ 

25𝑒7 ÷ 𝑒5 ≡ 

5𝑓2 × 3𝑓7 ≡ 

(𝑗5)9 ≡ 

𝑦2𝑥 × 𝑦𝑥5 ≡ 

(𝑘3)4 ≡ 

𝑝9𝑞4

𝑞𝑝2
≡ 

25𝑝9 ÷ 5𝑝0 ≡ 

𝑟11𝑝2 × 𝑟𝑝2 ≡ 

16𝑝2

2𝑝8
≡ 

𝑤9 ÷𝑤2 ≡ 

3𝑎7 × 𝑎6 ≡ 

(𝑔3)−12 ≡ 

𝑤18 × 5𝑤2 ≡ 

𝑎23 × 𝑎19 ≡ 

𝑛2 × 𝑛12 ≡ 

(20)−2 ≡ 

4𝑏7 ÷ 6𝑏7 ≡ 

2𝑎14 × 𝑎12 ≡ 

(8𝑑9)2 ≡ 

(𝑚14)−2 ≡ 

𝑎−3 × 𝑎7 ≡ 

(𝑛9)0 ≡ 

(𝑘18)2 ≡ 

5 × 2𝑝18 ≡ 

10𝑝7 ÷ 5𝑝5 ≡ 

4𝑓2 × 8𝑓3 ≡ 

𝑎11 ÷ 𝑎12 ≡ 

𝑚4 × 8𝑚 ≡ 

𝑡12 × 𝑡3

𝑡5
≡ 

10𝑝3 ÷ 2𝑝7 ≡ 

𝑦𝑝2 × 𝑦8𝑝6

𝑝4
≡ 

(𝑡6)4

(𝑡0)2
≡ 

(𝑏5)2 × 𝑏4

𝑏5
≡ 

(𝑟5)2

(𝑟3)4
≡ 

5𝑎6 × 𝑎4

(𝑎5)2
≡ 

7(𝑝6)12

(𝑝20)2
≡ 

Find the value of 𝑛 for 

each question  below 

𝑡6 × 𝑡𝑛 ≡ 𝑡12 

(𝑡𝑛)4 ≡ 𝑡16 

𝑥𝑛 ≡
1

𝑥6
 

𝑝4 ÷ 𝑝𝑛 ≡ 𝑝6 

𝑡𝑛 ≡ 1 

 


